2016 DECEMBER NEW ITEMS TEKNOROT

- >

1 SUSPENSION PARTS ¢

TEXIIOrROT
2016

DECEMBER

Wishbone

Axial Joint

Tie Rod End

Track Control Arm
Ball Joint
Stabiliser Link
Bush (Bushing)

www.teknorot.com info@teknorot.com

2016 DECEMBER NEW ITEMS TEKNOROT Page 1



2016 DECEMBER NEW ITEMS TEKNOROT

i BMW 3 SERIES E90,E91,E92,E93 4x4 xdrive 2005 - 2011
o —
TEKREF DESCRIPTION OEM NO NOTES
B-196A SUSPENSION STABILIZER BAR LINK FRONT RH 31356768772 A=340mm/428gr
B=M10X1.5
COMP. COMPONENT NAME
(A)LENGTH/WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
BMW 3 SERIES E90,E91,E92,E93 4x4 xdrive 2005 - 2011
< 8
TEK REF - DESCRIPTION OEM NO NOTES
B-197A SUSPENSION STABILIZER BAR LINK FRONT LH 31356768771 A=340mm/428gr
B=M10X1.5
COMP. COMPONENT NAME
(A)LENGTH/ WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
BMW 3 SERIES E90,E91,E92,E93 4x4 xdrive 2005 - 2011
TEK REF DESCRIPTION OEM NO NOTES
B-192 STEERING TIE ROD END LH 32106769073 A=121 mm/0,582 kg
32106793623 B=M14x1.5
C=M14x1.5
COMP. COMPONENT NAME
(A)LENGTH/ WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
BMW 3 SERIES E90,E91,E92,E93 4x4 xdrive 2005 - 2011
TEK REF : DESCRIPTION OEM NO NOTES
B-191 STEERING TIE ROD END RH 32106769074 A=121 mm/0,582 kg
32106793624 B=M14x1.5
C=M14x1.5
COMP. COMPONENT NAME
(A)LENGTH/ WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2016 DECEMBER NEW ITEMS TEKNOROT Page 2



2016 DECEMBER NEW ITEMS TEKNOROT

BMW 3 SERIES E90,E91,E92,E93 4x4 xdrive

DESCRIPTION

S

Gy ———— -

2005-2011

DESCRIPTION

TEK REF OEM NO NOTES
B-192193 STEERING TIE ROD ASSEMBLY LH 32106768879 A=1183gr
32106793621 B=M14x1.5
C=M14x1.5
COMP. COMPONENT NAME

o

= m— gl

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2005-2011

TEK REF OEM NO NOTES
B-191193 STEERING TIE ROD ASSEMBLY RH 32106768880 A=1183gr
32106793622 B=M14x1.5
C=M14x1.5
COMP. COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

BMW X1 E84 4X4 xdrive 2009-2015
T =g
4 & &
TEK REF DESCRIPTION OEM NO NOTES
B-196A SUSPENSION STABILIZER BAR LINK FRONT RH 31356768772 A=340mm/428gr
B=M10X1.5
COMP. COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

BMW X1 E84 4X4 xdriv 2009-2015
f e N
M
TEK REF DESCRIPTION OEM NO NOTES
B-197A SUSPENSION STABILIZER BAR LINK FRONT LH 31356768771 A=340mm/428gr
B=M10X1.5
COMP. COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2016 DECEMBER NEW ITEMS TEKNOROT

Page 3



2016 DECEMBER NEW ITEMS TEKNOROT

9 BMW X1 E84 4X4 xdrive 2009-2015
! / : ]
TEK REF DESCRIPTION OEM NO NOTES
B-192193 STEERING TIE ROD ASSEMBLY LH 32106768879 A=1183gr
32106793621 B=M14x1.5
C=M14x1.5
COMP. COMPONENT NAME
(A)LENGTH/WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
2009-2015
TEK REF DESCRIPTION OEM NO NOTES
B-191193 STEERING TIE ROD ASSEMBLY RH 32106768880 A=1183gr
32106793622 B=M14x1.5
C=M14x1.5
COMP. COMPONENT NAME
(A)LENGTH/ WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
11 BMW X5 E70,E71,F15,F16 2006-
TEK REF DESCRIPTION OEM NO NOTES
B-929 SUSPENSION STABILIZER BAR LINK REAR 33326774476 A=0,6kg
COMP. COMPONENT NAME
SB 987 (A)LENGTH / WEIGHT
o (B)BOLT METRIC
(C) HOUSING METRIC
12 BUICK ENCLAVE (U.S.A 2008-2017
TEK REF DESCRIPTION OEM NO NOTES
CH-917 LATERAL ARM REAR 23461856 A=351.5 mm/1129gr
COMP. COMPONENT NAME
SB 985 BUSHING (A)LENGTH / WEIGHT

(B)BOLT METRIC
(C) HOUSING METRIC

ot

2016 DECEMBER NEW ITEMS TEKNOROT

Page 4



2016 DECEMBER NEW ITEMS TEKNOROT

CHEVROLET COBALT (U.S.A)

TEK REF DESCRIPTION OEM NO NOTES

CH-221 STEERING TIE ROD END 19149840 A=105,5mm/482gr
B=M12X1.75
C=M14X1.5

COMP. COMPONENT NAME

13 BUICK ENCLAVE (U.S.A) 2008-2017
TEK REF DESCRIPTION OEM NO NOTES
CH-911 LATERAL ARM REAR 15148024 A=211.5mm/1129gr
COMP. COMPONENT NAME
SB 986 BUSHING

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2005-2010

CHEVROLET CRUZE (U.S.A
- =S

TEK REF DESCRIPTION
0-527 SUSPENSION STABILIZER BAR LINK FRONT LH

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2016-2017

OEM NO NOTES
39001003 A=307mm/350gr
B=M12X1.75

COMP. COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

-
TEK REF DESCRIPTION OEM NO NOTES
0-526 SUSPENSION STABILIZER BAR LINK FRONT RH 39001004 A=307mm/350gr
B=M12X1.75
COMP. COMPONENT NAME

2016-2017

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2016 DECEMBER NEW ITEMS TEKNOROT

Page 5



2016 DECEMBER NEW ITEMS TEKNOROT

CHEVROLET HHR (U.

DESCRIPTION

17 CHEVROLET CRUZE (U.S.A) 2016-2017
e &
4
TEK REF DESCRIPTION OEM NO NOTES
0-521 STEERING TIE ROD END RH 39008083 A=143mm/540gr
B=M12X1.75
C=M14X1.5
COMP. COMPONENT NAME
(A)LENGTH/WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
CHEVROLET CRUZE (U.S.A) 2016-2017
S &
TEK REF DESCRIPTION OEM NO NOTES
0-522 STEERING TIE ROD END LH 39008084 A=143mm/540gr
B=M12X1.75
C=M14X1.5
COMP. COMPONENT NAME
(A)LENGTH/ WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
19 CHEVROLET EQUINOX 1st Gen (U.S.A 2005-2009
.‘&?
|
TEK REF DESCRIPTION OEM NO NOTES
CH-221 STEERING TIE ROD END 19149840 A=105,5mm/482gr
B=M12X1.75
C=M14X1.5
COMP. COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2006-2011

TEK REF OEM NO NOTES

CH-221 STEERING TIE ROD END 19149840 A=105,5mm/482gr
B=M12X1.75
C=M14X1.5

COMP. COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2016 DECEMBER NEW ITEMS TEKNOROT

Page 6



2016 DECEMBER NEW ITEMS TEKNOROT

21 CHEVROLET TRAVERSE (U.S.A) 2009-2017
2 A T
=0

TEK REF DESCRIPTION OEM NO NOTES

CH-917 LATERAL ARM REAR 23461856 A=351.5 mm/1129gr
COMP. COMPONENT NAME

SB 985 BUSHING (A)LENGTH / WEIGHT

(B)BOLT METRIC
(C) HOUSING METRIC

22 CHEVROLET TRAVERSE (U.S.A) 2009-2017
TEK REF DESCRIPTION OEM NO NOTES
CH-911 LATERAL ARM REAR 15148024 A=211.5mm/1129gr
COMP. COMPONENT NAME
SB 986 BUSHING (A)LENGTH / WEIGHT

(B)BOLT METRIC
(C) HOUSING METRIC

p3 CHEVROLET VOLT (U.S.A 2016-2017
TEK REF DESCRIPTION OEM NO NOTES
0-522 STEERING TIE ROD END LH 39008084 A=143mm/540gr
B=M12X1.75
C=M14X1.5
COMP. COMPONENT NAME
(A)LENGTH/ WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
CHEVROLET VOLT (U.S.A 2016-2017
TEK REF DESCRIPTION OEM NO NOTES
0-527 SUSPENSION STABILIZER BAR LINK FRONT LH 39001003 A=307mm/350gr

B=M12X1.75

COMP. COMPONENT NAME
(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2016 DECEMBER NEW ITEMS TEKNOROT



2016 DECEMBER NEW ITEMS TEKNOROT

25 CHEVROLET VOLT (U.S.A) 2016-2017
1
TEK REF DESCRIPTION OEM NO NOTES
0-526 SUSPENSION STABILIZER BAR LINK FRONT RH 39001004 A=307mm/350gr
B=M12X1.75
COMP. COMPONENT NAME
(A)LENGTH/WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
Pl CHEVROLET VOLT (U.S.A) 2016-2017
TEK REF DESCRIPTION OEM NO NOTES
0-521 STEERING TIE ROD END RH 39008083 A=143mm/540gr
B=M12X1.75
C=M14X1.5
COMP. COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

CHRYSLER 300 2nd Gen (U.S.A 2011-2017
TEK REF DESCRIPTION OEM NO NOTES
DO-161 STEERING TIE ROD END RH 68156906AA A=231mm/1448gr
B=M14X1.5
C=M16X1.5
COMP. COMPONENT NAME
(A)LENGTH/ WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
CHRYSLER 300 2nd Gen (U.S.A 2011-2017
w Y
TEK REF DESCRIPTION OEM NO NOTES
DO-162 STEERING TIE ROD END LH 68156905AA A=231mm/1448gr
B=M14X1.5
C=M16X1.5
COMP. COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2016 DECEMBER NEW ITEMS TEKNOROT

Page 8



2016 DECEMBER NEW ITEMS TEKNOROT

29

CHRYSLER 300 2nd Gen (U.S.A) (HEAVY DUTY SUSPENSION)

<&

—

2011-2017

TEK REF DESCRIPTION OEM NO NOTES
DO-171 STEERING TIE ROD END 68156902AA A=120mm/670gr
B=M14X1.5
C=M16X1.5
COMP. COMPONENT NAME

(A) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

DODGE CHALLANGER (HEAVY DUTY SUSPENSION) 2011-2017
TEK REF DESCRIPTION OEM NO NOTES
DO-171 STEERING TIE ROD END 68156902AA A=120mm/670gr
B=M14X1.5
C=M16X1.5
COMP. COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

DODGE CHARGER (U.S.A
p——

=

DODGE CHARGER (U.S.A 2011-2017
TEK REF DESCRIPTION OEM NO NOTES
DO-161 STEERING TIE ROD END RH 68156906AA A=231mm/1448gr
B=M14X1.5
C=M16X1.5
COMP. COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2011-2017

TEK REF DESCRIPTION OEM NO NOTES

DO-162 STEERING TIE ROD END LH 68156905AA A=231mm/1448gr
B=M14X1.5
C=M16X1.5

COMP. COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2016 DECEMBER NEW ITEMS TEKNOROT

Page 9



2016 DECEMBER NEW ITEMS TEKNOROT

TEK REF N B DESCRIPTION

.A) (HEAVY DUTY SUSPENSION)

<

S—

2011-2017

DODGE CHARGER RWD (U.S.A)
C g

TEK REF ~ DESCRIPTION

OEM NO NOTES
DO-171 STEERING TIE ROD END 68156902AA A=120mm/670gr
B=M14X1.5
C=M16X1.5
COMP. COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2005-2010

DODGE CHARGER RWD (U.S.A
P .

OEM NO NOTES
DO-131 STEERING TIE ROD RH 05142938AC A=1,404 kg/205,5 mm
B=M14x1.5
C=M15x1.5
COMP. COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2005-2010

FORD ESCAPE (3rd Gen) (U.S.A

TEK REF DESCRIPTION OEM NO NOTES

DO-132 STEERING TIE ROD LH 05142939AC A=1,404 kg/205,5 mm
B=M14x1.5
C=M15x1.5

COMP. COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2013-2017

TEK REF DESCRIPTION OEM NO NOTES
FO-987 LATERAL ARM REAR 1782008 A=2740gr
CV615K652AAA 0
CV625500J 0
COMP. COMPONENT NAME
SB 366 BUSHING BIG (A)LENGTH / WEIGHT
' (B)BOLT METRIC
(C) HOUSING METRIC
SB 367 BUSHING SMALL .

2016 DECEMBER NEW ITEMS TEKNOROT

Page 10



2016 DECEMBER NEW ITEMS TEKNOROT

FORD EXPEDITION 3rd Gen (U.S.A)

2007 - 2017

TEK REF DESCRIPTION OEM NO NOTES

FO-581 STEERING TIE ROD END RH 7L1Z3A130R A=1,17 kg/142 mm
B=M14x2
C=M16x1.5

COMP. COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

FORD EXPEDITION 3rd Gen (U.S.A) 2007 - 2017
TEK REF DESCRIPTION OEM NO NOTES
FO-582 STEERING TIE ROD END LH 7L1Z3A130L A=1,17 kg/142 mm
B=M14x2
C=M16x1.5
COMP. COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

FORD F-150 12th Gen (U.S.A) 2009-2014
TEK REF DESCRIPTION OEM NO NOTES
FO-581 STEERING TIE ROD END RH 7L1Z3A130R A=1,17 kg/142 mm
B=M14x2
C=M16x1.5
COMP. COMPONENT NAME

(A ) LENGTH/WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

0 FORD F-150 12th Gen (U.S.A) 2009-2014
e 2
TEK REF A DESCRIPTION OEM NO NOTES
FO-582 STEERING TIE ROD END LH 7L1Z3A130L A=1,17 kg/142 mm
B=M14x2
C=M16x1.5
COMP. COMPONENT NAME

(A)LENGTH/WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2016 DECEMBER NEW ITEMS TEKNOROT

Page 11



2016 DECEMBER NEW ITEMS TEKNOROT

BUSHING SMALL

41 FORD KUGA (I) 2013-2017
TEK REF DESCRIPTION OEM NO NOTES
FO-987 LATERAL ARM REAR 1782008 A=2740gr
CV615K652AAA
CV625500J

COMP. COMPONENT NAME

SB 366 BUSHING BIG ¢ (A)LENGTH / WEIGHT
SB 367

(B)BOLT METRIC

(C) HOUSING METRIC

BUSH FOR WISHBONE BIG

43 FORD TRANSIT (V347-348) (HEAVY DUTY

FORD TRANST (V347-348) (HEAVY DUTY) 2006-2014
TEK REF DESCRIPTION OEM NO NOTES
FO-848 SUSPENSION CONTROL ARM RH 6C113A052BD A=6150gr
COMP. COMPONENT NAME
SB 527 BUSH FOR WISHBONE CENTER SMALL . (A ) LENGTH / WEIGHT
SB 528

(B)BOLT METRIC
(C) HOUSING METRIC

3
7

2006-2014
TEK REF DESCRIPTION OEM NO NOTES
FO-849 SUSPENSION CONTROL ARM LH 6C113A053BD A=6150gr
COMP. COMPONENT NAME
SB 527 BUSH FOR WISHBONE CENTER SMALL (A)LENGTH / WEIGHT
. (B)BOLT METRIC
(C) HOUSING METRIC
SB 528 BUSH FOR WISHBONE BIG .
44 GMC ACADIA 1st Gen (U.S.A 2007-2017
TEK REF DESCRIPTION OEM NO NOTES
CH-917 LATERAL ARM REAR 23461856 A=351.5 mm/1129gr
COMP. COMPONENT NAME
SB 985 BUSHING

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2016 DECEMBER NEW ITEMS TEKNOROT

Page 12



2016 DECEMBER NEW ITEMS TEKNOROT

45 GMC ACADIA 1st Gen (U.S.A) 2007 - 2017
TEK REF DESCRIPTION OEM NO NOTES
CH-911 LATERAL ARM REAR 15148024 A=211.5mm/1129gr
COMP. COMPONENT NAME
SB 986 BUSHING (A)LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
6 GMC TERRAIN (U.S.A) 2010-2017
C ©,
TEK REF DESCRIPTION OEM NO NOTES
CH-221 STEERING TIE ROD END 19149840 A=105,5mm/482gr
B=M12X1.75
C=M14X1.5
COMP. COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

47 LEXUS RX 330 2004-2006
-
M
TEK REF DESCRIPTION OEM NO NOTES
LX-211 STEERING TIE ROD END 45460-09060 A=171mm
B=M12X1.25
C=M16X1.5
COMP. COMPONENT NAME
(A)LENGTH/ WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
48 LEXUS RX 350 2007-2009
M
TEK REF DESCRIPTION OEM NO NOTES
LX-211 STEERING TIE ROD END 45460-09060 A=171mm
B=M12X1.25
C=M16X1.5
COMP. COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2016 DECEMBER NEW ITEMS TEKNOROT

Page 13



2016 DECEMBER NEW ITEMS TEKNOROT

49 LEXUS RX 400 H 2006-2008
sg;r‘ ==
TEK REF DESCRIPTION OEM NO NOTES
LX-211 STEERING TIE ROD END 45460-09060 A=171mm
B=M12X1.25
C=M16X1.5
COMP. COMPONENT NAME
(A)LENGTH/WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
50 LINCOLN NAVIGATOR 3rd Gen, (U326) (U.S.A) 2007-2017
TEK REF DESCRIPTION OEM NO NOTES
FO-581 STEERING TIE ROD END RH 7L1Z3A130R A=1,17 kg/142 mm
B=M14x2
C=M16x1.5
COMP. COMPONENT NAME
(A)LENGTH/ WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
51 LINCOLN NAVIGATOR 3rd Gen, (U326) (U.S.A 2007-2017
TEK REF DESCRIPTION OEM NO NOTES
FO-582 STEERING TIE ROD END LH 7L1Z3A130L A=1,17 kg/142 mm
B=M14x2
C=M16x1.5
COMP. COMPONENT NAME
(A)LENGTH/ WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
52 MERCEDES S-SERIES (W221 2005-2013
TEK REF DESCRIPTION OEM NO NOTES
M-918 LATERAL ARM REAR 2213501153 A=285mm/538gr
COMP. COMPONENT NAME
SB 888 BUSHING (A)LENGTH / WEIGHT
. (B)BOLT METRIC
(C) HOUSING METRIC
SB 981 BUSHING 0

2016 DECEMBER NEW ITEMS TEKNOROT

Page 14



2016 DECEMBER NEW ITEMS TEKNOROT

53 MERCEDES S-SERIES (W221)

2005-2013

MERCEDES S-SERIES (W222,V222,X222) (For vehicules without ABC)

TEK REF DESCRIPTION OEM NO NOTES
M-917 LATERAL ARM REAR 2213501253 A=285mm/538gr
COMP. COMPONENT NAME
SB 888 BUSHING (A)LENGTH / WEIGHT
. (B)BOLT METRIC
(C) HOUSING METRIC
SB 981 BUSHING 0

TEK REF DESCRIPTION OEM NO NOTES
M-967 SUSPENSION STABILIZER BAR LINK FRONT LH 2223201789 A= 256mm/600gr
B=M10X1.5
C=M12X1.5
COMP. COMPONENT NAME
(A)LENGTH/ WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
55 MERCEDES S-SERIES (W222,V222,X222) (For vehicules without ABC 2015-
&
TEK REF DESCRIPTION OEM NO NOTES
M-966 SUSPENSION STABILIZER BAR LINK FRONT RH 2223201689 A= 256mm/600gr
B=M10X1.5
C=M12X1.5
COMP. COMPONENT NAME
(A)LENGTH/ WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
56 MERCEDES VITO VIANO (W639 2003-2014
TEK REF DESCRIPTION OEM NO NOTES
M-670 SUSPENSION STABILIZER BAR LINK REAR 6393260216 A=145mm/200gr
COMP. COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2016 DECEMBER NEW ITEMS TEKNOROT

Page 15



2016 DECEMBER NEW ITEMS TEKNOROT

OPEL ASTRA (K)

TEK REF
0-526 SUSPENSION STABILIZER BAR LINK FRONT RH

DESCRIPTION

7 OPEL ASTRA (K) 2015-
TEK REF DESCRIPTION OEM NO NOTES
0-527 SUSPENSION STABILIZER BAR LINK FRONT LH 39001003 A=307mm/350gr
B=M12X1.75
COMP. COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2015-

b
OEM NO NOTES
39001004 A=307mm/350gr
B=M12X1.75

COMP.

OPEL ASTRA (K

COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2015-

@
el

TEK REF DESCRIPTION OEM NO NOTES
0-521 STEERING TIE ROD END RH 39008083 A=143mm/540gr
B=M12X1.75
C=M14X1.5
COMP. COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

OPEL ASTRA (K 2015-
@
=
TEK REF DESCRIPTION OEM NO NOTES
0-522 STEERING TIE ROD END LH 39008084 A=143mm/540gr
B=M12X1.75
C=M14X1.5
COMP. COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2016 DECEMBER NEW ITEMS TEKNOROT

Page 16



2016 DECEMBER NEW ITEMS TEKNOROT

61 RANGE ROVER SPORT Il (L494)

S

UBARU FORESTER (SJ

2012-
TEK REF DESCRIPTION OEM NO NOTES
LA—175 DUOINCINOIVIN WUIN T UL I"\I'\IVII IC':\I'I-:,I'-E\I"\I.I. JUINT ADOLCIVIDL T INECAN LR037690 A:385mm/2620gr
COMP. COMPONENT NAME
SB-980 BUSHING i (A)LENGTH/ WEIGHT
M (B)BOLT METRIC
(C) HOUSING METRIC
62 RANGE ROVER VOGUE IV (L405) 2012-
TEK REF DESCRIPTION OEM NO NOTES
LA—175 DUOINCINOIVIN WUIN T UL I"\I'\IVII IC:LquhLL JUINT ADOLCIVIDL T INECAL LR037690 A:385mm/2620gr
COMP. COMPONENT NAME
SB-980 BUSHING

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2013-
TEK REF DESCRIPTION OEM NO NOTES
SU-616 SUSPENSION STABILIZER BAR LINK REAR 20470-AJ010 A=334gr
20470-SC000
COMP. COMPONENT NAME
(A)LENGTH/ WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
64 SUBARU LEGACY V 2009-2014
a7/ 0
-
TEK REF DESCRIPTION OEM NO NOTES
SU-426 SUSPENSION STABILIZER BAR LINK FRONT 20420-AJ000 A=346gr
COMP. COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2016 DECEMBER NEW ITEMS TEKNOROT

Page 17



2016 DECEMBER NEW ITEMS TEKNOROT

SUZUKI SWIFT IV

DESCRIPTION

BARU XV CROSSTREK (GJ, GP; "G4" series) 2011-2016
TEK REF 'DESCRIPTION OEM NO NOTES
SU-616 SUSPENSION STABILIZER BAR LINK REAR 20470-AJ010 A=334gr
20470-SC000
COMP. COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

TEK REF OEM NO NOTES

SZ-449 SUSPENSION CONTROL ARM And BALL JOINT ASSEMBLY LH 4520268L00 A=1705gr
4520271L00

COMP. COMPONENT NAME

SZ-334 BALL JOINT (A ) LENGTH / WEIGHT

(B)BOLT METRIC
(C) HOUSING METRIC

SUZUKI SWIFT IV 2010-
TEK REF DESCRIPTION OEM NO NOTES
SZ-448 SUSPENSION CONTROL ARM And BALL JOINT ASSEMBLY RH 4520168L00 A=1705gr
4520171L00
COMP. COMPONENT NAME
SZ-334 BALL JOINT (A)LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
68 BMW X5 E70,E71,F15,F16 2006-
TEK REF DESCRIPTION OEM NO NOTES
SB 987 BUSHING Part of 33326774476 A=370gr
COMP. COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2016 DECEMBER NEW ITEMS TEKNOROT

Page 18



2016 DECEMBER NEW ITEMS TEKNOROT

69 CHEVROLET TRAVERSE (U.S.A) 2009-2017
TEK REF DESCRIPTION OEM NO NOTES
SB 985 BUSHING Part of 23461856 A=230gr
COMP. COMPONENT NAME
(A)LENGTH/WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
70 BUICK ENCLAVE 1st Gen (U.S.A) 2008-2017
TEK REF DESCRIPTION OEM NO NOTES
SB 985 BUSHING Part of 23461856 A=230gr
COMP. COMPONENT NAME
(A)LENGTH/ WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
71 GMC ACADIA 1st Gen (U.S.A 2007-2017
TEK REF DESCRIPTION OEM NO NOTES
SB 985 BUSHING Part of 23461856 A=230gr
COMP. COMPONENT NAME
(A)LENGTH/ WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
72 CHEVROLET TRAVERSE (U.S.A 2009-2017
TEK REF DESCRIPTION OEM NO NOTES
SB 986 BUSHING Part of 15148024 A=230gr
COMP. COMPONENT NAME
(A)LENGTH/ WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2016 DECEMBER NEW ITEMS TEKNOROT

Page 19



2016 DECEMBER NEW ITEMS TEKNOROT

73 BUICK ENCLAVE 1st Gen (U.S.A) 2008 - 2017
TEK REF DESCRIPTION OEM NO NOTES
SB 986 BUSHING Part of 15148024 A=230gr
COMP. COMPONENT NAME
(A)LENGTH/WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
74 GMC ACADIA 1st Gen (U.S.A) 2007 - 2017
TEK REF DESCRIPTION OEM NO NOTES
SB 986 BUSHING Part of 15148024 A=230gr
COMP. COMPONENT NAME
(A)LENGTH/ WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
i RANGE ROVER SPORT Il (L494 2012-
TEK REF DESCRIPTION OEM NO NOTES
SB 980 BUSHING Part of LR037690 A=156gr
COMP. COMPONENT NAME
(A)LENGTH/ WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
76 RANGE ROVER VOGUE IV (L405 2012-
TEK REF : DESCRIPTION OEM NO NOTES
SB 980 BUSHING Part of LR037690 A=156gr

COMP. COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2016 DECEMBER NEW ITEMS TEKNOROT

Page 20



2016 DECEMBER NEW ITEMS TEKNOROT

¥7 MERCEDES S-SERIES (W221) 2005-2013
TEK REF DESCRIPTION OEM NO NOTES
SB 888 BUSHING part of 2213501153/2213501253  A=80gr
COMP. COMPONENT NAME
(A)LENGTH/ WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
78 MERCEDES S-SERIES (W221 2005-2013
TEK REF DESCRIPTION OEM NO NOTES
SB 981 BUSHING part of 2213501153/2213501253 A=91gr
COMP. COMPONENT NAME
(A)LENGTH/ WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2016 DECEMBER NEW ITEMS TEKNOROT

Page 21



